Conservatory Roof System

| PVCu Extrusions |

_{

1 L]

Aluminium Extrusions |
LZALO003 LZALOOO7 LZALO033 LZALO072
Std. Hip Bar HD Hip Bar XHD Hip Bar Bolster Bar
LZALOO61 LZALO062 LZALO063 LZALO060
Std.Transom Bar HD Transom Bar XHD Transom Bar Wall/End Bar
LZALOO59
Wallplate Wing LZALOO74
Half Ridge
Extension
o LZALOO55 H LZAL0073
LZALOO16 Ridge Hailf Ridge
Wallplate LZALOO11 LZAL0O056
Ridge Wing Ridge Extension
LZALO028
Eaves Pivot
LZALOO46A
Glazing Retainer i t
LZALOO70 LZALOO71
LZALOO44A Eaves Beam Eaves Reinforcing
Wall Pivot Rail
; ' ‘
LZALO068
Large Box Gutter
LZALOO75
Raised Back
Adaptor
LZALOO76 LZALOO77 LZALO069
Valley Wing Female Valley Wing Male Raised Back

|

LZPEOOO7 LZPEOOO8 LAN114
Ogee Bottom Cap Square Bottom Cap Bolster Bar
LZPEOO41 LZPEO042 LZPEO042
Std. Transom EP' HD Transom/Std. Hip XHD Transom/HD
Top Cap EPTop Cap Hip EPTop Cap
LZPEO045
32mm Wall/End
Bar EPTop Cap
LZPEOO44
XHD Hip EPTop Cap
LZPEO047
End Bar Cloak EP
LZPEOO46
24mm Wall/End Bar
EPTop Cap
LZPE0O021 LZPE0023 LZPEOO50
External Wallplate Cover Ridge Blanking Half Ridge
Trim Flashing Trim

0

LZPEOO12
Glazing Support

E 3

LZPEOO11
External Ridge/Half Ridge Cover

= . 0 = . =
LZPE0O24 LZPEOO35 LZALOO36
Wallplate Undercap Fascia Trim Extended Fascia Trim

NI -y »

LZPEOO10 LZPE0D29
Internal Ridge/Hallf Ridge/ Internal Eaves
Eaves Cover Cover (Pitches <8°)
LZPE0028 LZPEOO13 LZPEOO17 LZPEO040
Glazing Trim 25mm End Trim 32mm End Trim External Eaves
Trim

LZPEO049
Large Box Gutter Under Cladding

L

LZPEO048
Box Gutter Under Cladding Retainer

DN | I | R

LZPEO052
Valley Bottom Cap

LZPEOO51
Valley Top Cap

LZMP0OO051
End Cap Mounting
Bracket

LZMP0OO15
Ridge Blanking
Trim End Boss

LZMP0062
Square Ext. Cover
(Pitches <20°)

8

LZMPO060
Square Ext. Cover
(Pitches >20°)

LZMP0063
Square Int. Cover
(Pitches <20°)

=
\\!,/\'

LZMPOO061
Square Int. Cover
(Pitches 20° - <30°)

LZMP0064
Square Int. Cover
(Pitches >30%)

LZMP0OO14
Gable End Plafe

=

LZMP0002

90° Ext. Eaves
Beam Cloak
Joint Cover

LZMP0OO058
Valley End Cap

LZMP0065
Half Ext. Cover LH
(Pitches <30°)

LZMP0067

,/\\
] a

R

LZMP0052 LZMP0053/4 LZMP0072
Roof Bar End Wall/End Bar End Bolster Bar End
Cap Cap LH & RH Cap

i
LZMP0O008 LZMP0O007
Finial Cresting

LZMP0066
Half Ext. Cover RH
(Pitches <30°)

=
»

4

LZMP0O068

Hailf Ext.

(Pitches >30%)

@ 4
Nt N

LZMPO069
Square Ext. Cover
(Pitches <20%)

'

LZMP0OO71
Half Square Int. Cover
LH (Pitches 20° - <30°)

P

~\,
LZMP0074

Hailf Square Int. Cover
LH (Pitches >30°)

LZMP0O17

Ridge Flashing Trim

o

|

LZMP0003
135° Int. Eaves
Beam Cloak
Joint Cover

\}

LZMPOO059

Valley End Cap

Logo Plate

. Cover LH Half Ext. Cover RH

(Pitches >30°)

—

LZMP0O70
Square Ext. Cover
(Pitches <20°)

LZMP0073
Half Square Int. Cover
RH (Pitches 20° - <30°)

- &

-
LZMP0OO075

Half Square Int. Cover
RH (Pitches >30%)

Ry

LZMP0055/6 LZMPOOO1
Eaves End Cap 90° Int. Eaves Beam
LH & RH Cloak Joint Cover
i [
LZMP0004 LZMP0O18
In-Line Int. Eaves 150° Int. Eaves
Beam Cloak Beam Cloak Joint
Joint Cover Cover
LZMP0057 LZMP0076
Ridge Cover Int. Ridge Cover Ext.
Corner Tim Corner Trim

I Rainwater Goods I

BR0O82
Ogee Gutter

BRO87L
Stop End LH

BRO88/150E
150° Ext. Gutter
Angle

BRO89E
135° Ext. Gutter
Angle

BR201
Round
Downpipe 2.5m

LZRWOO1
Large Box Gutter
Adaptor LH'T'

¢

=
N
M

BR833

Face Fix Gutter Clip

BRO87R
Stop End RH

N

T
M

.

BRO88E
90° Ext. Gutter
Angle

BRO89I
135° Int. Gutter
Angle

>,
ol
v%

BR8732
Downpipe Clip

Downpipe 112°
Offset Bend

\ : I“\x\!w

LZRW002
Large Box Gutter
Adaptor RH'T'

KK/

BR834
Top Hung Gutter Clip

i

BRO84

Gutfer Union

BRO88I
90° Int. Gutter
Angle

Running Outlet

=y

U

!

=

LZRG8320
Multi-Positional
Outlet

§
(4

BR216
Downpipe Shoe

LZRW003

Large Box Gutter
Adaptor LH In-Line

Sundry ltems

LZSU8261
90° Vertical Cleat

LZSU0001
90° Horizontal
Joining Plate

LZSU0014
Flipper Gasket

LZSU0044
Ridge Top Cap
Connector

LZSU0050
Foam Weather
Seal Bung

LZSU0092
Jack Rafter Fix-
ing Kit

LZSU0005
3 Way Tie Bar
Centre Boss

LZSU8522
Tie Bar Cover (PVC)

LZSU8262
135° Vertical Cleat

LZSU8264

In-line Vertical Cleat

LZSU8263
150° Vertical Cleat

LZSU0002 LZSU0030 LZSU0031
135° Horizontal In-line Horizontal ‘T" Horizontal
Joining Plate Joining Cleat Joining Plate
LZSU0040 LZSU0041 LZSuo042 LZSu0071
Bar fo D-Ring Half D-Ring Ridge Connector
Connector
) ]
w
LZSU8684 LZSU8685 LZSU0055 LZSU0056
Snap Base Cap Snap Cap Cover M10 x 130mm M10 Nut Cap (Inc.
Int. Cover Stud Cover Stud)
LZSU0051 LZSU0052 LZSU0066 LZSU0065
Foam Weather Foam Weather Foam Weather Glazing Retainer
Seal Bung LH Seal Bung RH Seal Mask Gasket
LZSU0070 LZSU8890 LZSu0087 LZSU00%0
Eaves Beam Eaves o Wall Eaves Beam Lge BG Insulation
Connector Fixing Pack Cloaking Foam Foam For Eaves
]
[] Jo
LZSU8544 LZSU0006 LZSU0076 LZAL8532
5 Way Tie Bar Fixing Lug Pack Tie Bar To Ridge Tie BarTo Eaves
Centre Boss Block Block
o
LZSu8524 LZSU8531 LZSU0032
Tie Bar Stud (10mm Thread) Tie Bar Stud Connector M6T Bar Tool

LZRWO04 LZRWOO05 LZRWO006
Large Box Gutter Large Box Gutter Large Box Gutter LZSU0082 LZSU0083 LZSU0085 LZSU0084 LZSU0086
Adaptor RH In-Line Adaptor Equal ‘T’ Adaptor LH 90° Large Box Gutter Large Box Gutter Large Box Gutter 195 x 6mm Large 10" x 9" Gallows
End Stop In-line Connector Spring Clip BG Insulation Bracket
<‘| I\ Foam
I
“&S’” b £&\ 1l
N g (V4
| i’
LZRW007 LZRWO008 LZRWO09 LZsu0034 LZSU0081 LZSU0093 LZSU0094 LZSu0095
Large Box Gutter Large Box Gutter Large Box Gutter Box Gutter Ali Backed BG Valley Foam Valley Wing Cut Out Foam
Adaptor RH 90° Adaptor RH 135° Adaptor RH 135° Sealant Sealing Tape Weather Seal Foam Seal Seal
Fixings
LZFX0004 LZFX0006 LZFX0010 LZFX0020 LZFX0021
3.6 x 22mm M6 Nut M10 Nut M6 x 16mm 5.5 x 32mm
Countersunk Screw (Bar Fixings) (Int. Cover &Tie Bars) Roof Bar Fixing (Transom & Jack Tec Screw (Bolster Bar)
Rafters)
LZFX0005 LZFX0007 LZFX0017 LZFX0018 LZFX0022
Mé6 x 12mm Mé Half Nut M6 x 8mm M6 Flange Nuts Butfon Rivet

Hex Head Bolt (D-ring)

(D-Ring Connector & Jack Raffers)

Hex Head Bolt (Jack Raffers)

(Bar Fixings) (Radius Covers)

Liniar | Flamstead House, Derby Hall Business Park, Denby Derbyshire, DES 8JX

Iss. 9.1




